
Opérations avec deux fractions mixtes (C)

Nom: Date: Note:

Calculez chaque résultat.

1. 513 ÷ 51216 = ÷ = × = =

2. 1 310 × 512 = × = =

3. 545 × 112 = × = =

4. 528 × 1 210 = × = = =

5. 512 ÷ 4 619 = ÷ = × = =

6. 568 ÷ 1 813 = ÷ = × = = =

7. 549 − 11718 = − = − = = =

8. 516 − 4 812 = − = − = =

9. 514 + 2 816 = + = + = = =

10. 526 + 123 = + = + = = =
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Opérations avec deux fractions mixtes (C) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1. 513 ÷ 51216 = 16
3 ÷ 92

16 = 16
3 × 16

92 = 256
276 = 64

69

2. 1 310 × 512 = 13
10 ×

11
2 = 143

20 = 7 320

3. 545 × 112 = 29
5 × 3

2 = 87
10 = 8 710

4. 528 × 1 210 = 42
8 × 12

10 = 504
80 = 63

10 = 6 310

5. 512 ÷ 4 619 = 11
2 ÷ 82

19 = 11
2 × 19

82 = 209
164 = 1 45164

6. 568 ÷ 1 813 = 46
8 ÷ 21

13 = 46
8 × 13

21 = 598
168 = 299

84 = 34784

7. 549 − 11718 = 49
9 − 35

18 = 98
18 −

35
18 = 63

18 = 7
2 = 312

8. 516 − 4 812 = 31
6 − 56

12 = 62
12 −

56
12 = 6

12 = 1
2

9. 514 + 2 816 = 21
4 + 40

16 = 84
16 +

40
16 = 124

16 = 31
4 = 734

10. 526 + 123 = 32
6 + 5

3 = 32
6 + 10

6 = 42
6 = 7

1 = 7
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